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%ﬂw store is making groups of balloons for a birthday party They have 32 blue balloons, "lz fia //é" é 7 b
 yellOW balloons, and 16 red balloons. They want to make as many groups as possible using ail 2,48 0 / ;
the balloons with an equal number of each color in each group. What is the greatest number of 6. What is 4.346 + 345 + 697 C, )
equal groups they can make? (4 points) l:710
Step 1:

2, that is 20,6 feet tall and 35 8 feet wide is painted on a wall. What is the total
area of the wall that is covered by The mural?

3 Judy buff of sugar. Each bag wnm@ 1.8 kilograms of sugar. However, one of
the bags and 0.4 kilogram of sugar leaks 6§ Judy a returns home. How much

sugar did Judy}mv amiv e?

A 14 kllogmms\‘ }_9: 3? kilograms  / 2 O ] b

it wrote the prime factorization of two numbers. He circled each factor that had a match
in the two factorizations; then he multiplied them together. What was Scott trying to find?

A. the least common multiple (LCM) of the two numbers
B the sum of the squares of the two numbers.

C. the product of the two numbers
D. the greatest common factor (GCF) of the two numbers

18. What is the least common multiple (LCM) of any two different prime numbers?

A. Thedifference  B. Sum @i\‘) D: quoient
—— et
]

1. Kelly divided 1 875 by 0.005. Which of the foll would give the same
answer?
divided by 5 D D g , L%
@55 divided by 0,05 [_ At
C. 1875 divided by 0.5
D. 18.75 divided by 0 5

9. Tamara planted a seedling that had a height of 9 3 When she d it three
weeks later, its height was 26,2 How many s did the plant grow in those
three weeks? ————

A. 355¢cm B. 23.1 cm CYy 16.9 cm
?5‘, 4 /‘

2
-4.3
6.9

)b.

Keywords!!!!

Difference
Remaining
Total

Area
factor
Altogether

What's written FIRST goes in the BOX!!!
Let’s practice some

Multiplying with decimals

Division (raise it up and SWOOP)

GCF
LCM

{ D 35’-"?

X
“15 b




